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General Instructions :

1.

LM

The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.

. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence
Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.
Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each
Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.
Question nuimbers 25 to 33 in Section-B are multiple choice questions based on practlcal
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

%
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9. Question numbers 34 to 36 in Section-B are questions based on practical skills are two
marks questions.

YAT-37 / SECTION-A

fafad fF o Ufera 2 afE U Fa9EE 32 H 9 THE & faoe 4 5 foe 9% @ @ g

state what will be observed when a de - shelled egg is placed in a concentrated salt solution

for five minutes.

T 1 T e fafan ey mro afa 1 e d @ wr e

Give an example of a motion in which acceleration is in the direction of motion.

3 vifee afer 0 T ferfie fom) S kg m/s B

Name the physical quantity whose unit is kg m/s.

. A TE SEdl Uied R YR ST i G il g i €2

How change in temperature and humidity effects the rate of evaporation.

e ST B e T 3 e T TS R 3% Wi A R |

Describe the process of shrinking of cell on being putin a strong salt solution.

e uedt F Wae W i A6 PR’ guenEd

Why moon does not fall on the earth’s surface ?

A foredl i ToreEt Y g ST s aneR W R Sierew e i TesH S g ¢
List any three properties on the basis of which a colloidal solution can be recognised ?

F
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With the help of a flow diagram, show the process of obtaining different gases from air. If the
boiling points of Oxygen. Argon and Nitrogen are - 183°C, —186°C and -196°C, which gas
forms the liquid first as the air is cooled ?

AR TR 1 AR UG U Uk GAmifera fas smfEd #if 3

Draw a well labeled diagram showing sublimation of Ammonium chloride.

frefafea o wfysfifa =t i fafag) 3
(@)  GHl & e A A | :

(b)y U

(© S

Mention the role of epidermis in the following :
(a) In the aerial parts of the plant ?

(b) In leaves ?

{c) In roots ?

(a) o varR =) Sifer & wifies Sufte 89 §2 3
(b)  HHIRE T R § 9g STl (<1 fag difw)

(a) In which type of cell the plastids are present ? e

(b)  Differentiate between chromoplasts and leucoplasts. (Give two points)
v

HHTT AEAT % JIE, T T9T q1g & T €19 7 997 A, B 797 C F ¥ " FF5qa7 7geg afds 3
ZIRT? 97 I9C % g+ § ey forfam)

Which will have greater inertia amongst three balls, A, B and C filled with same
volume of mercury, water and air respectively? Give reasons to support your answer.

T Hesh 93 W@ 19 W g A 8B’ 7 Fohal § 30 TR o9 g O a9 S B 3
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(a)

(b) B o feaere s e qen fowm w0 2

A frog hops from point ‘A’ to point ‘B, along a straight line path and then turns and hops to
point‘C".

B

e g aF i T gl FE?

<
+

(a)
(b)

frfafas Tl § feg wer it it wefitia w w82

120
1

i (m)
B EZEE

0 1234567

What type of motion is represented by each of the following graphs ?
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What is the distance travelled by the frog ?

=

A1 (ms—1)

faeemaT (m)

NE 3 BE

128545
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What is the magnitude and direction of displacement ?
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() T e & O €S U F UwS WAl HieA 21 € 9 39H | agd sfuss men | uE
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(i) T e el X A <o gen ot ¥ | e @l Fw A 9
(ii) T e At gg@ 9 T Hiod e T

State reason for the following :
(i) It is difficult to hold a hose for a fireman when it ejects large amount of water.
(ii) When an athlete comes running from a distance, he is able to jump longer.

(iii) It is difficult to walk on a slippery road.

U Bd & TR ¥ Ueh Yoo Shi FTRMEn S @ 3
() 4.9mdas i ® 3@ foram g im 2 iR st ey & we=iq st = T @it 2
(i)  FRE F (i) 15T (i) 2 s F G TR @O KA M2 (g=9.8 ms—2)

A stone is dropped from the edge of the roof :
(i) How long does it take to fall 4.9 m and what is its speed at the end of that fall ?

(ii) What is the acceleration (i) after 1 s (ii) after 2 s. after its release. (Take g=9.8 ms —2)
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()  TY YU FA Y F A 22
(i) S g WA I Al 31 fadutt Tt % wyet % W fafad
(i) T & gro <@ U < e fated |

Vishnu's father had two healthy Sahiwal cows. Vishnu told his father that the lactation
period of cows can be increased by cross breeding cattle with foreign breeds and also it was
possible artificially. In this way if villagers participated in cross-breeding programime they
would have higher milk yield.

(i) What is meant by lactation period ?
(ii) Name two exotic cattle breeds with long lactation period.

(i) ~ What values are exhibited by Vishnu ?

18 (a) ORI 9N STEEEA 32 3 AT Fepel 9 o R R 22 3
(b) IS H Y P Soel v 2§ 2
(c) 3! e YR &1 A9 IqeTe U1 ST & 2

(a) In what way broilers’ feed is different from layers’ ?
(b) Which one of these mature earlier ?
() What type of shelter is provided to them ‘?

19 I BEI ‘A’ TE ‘B, P T HI St 3 Tew w8t &1 fagw faen ‘A’ Y 3q fago 5 8w fear S
AfFT B 3 38 T & Wil wﬁmﬁaﬂﬁaﬁ?ﬁ?—aﬁﬂﬁﬁﬁﬂﬁaﬁmaﬂ?%qﬁwml
37k U&TUT ] YRUNEG HIfTT o :

(i)  =F A g F s 9 A 9 HCl S|

(i) I A A0 F T 9T FEA SEECHES Sl |

(iff) S A fager F Sifam 9T F we A guE w0 & A o w1 s

Two students, A and B got the mixture of iron fillings and sulphur. ‘A’ heated this mixture

strongly but ‘B’ kept it as such. They divided the mixture further into three parts and did
same tests. Tabulate their observat-i‘ons when - '
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(i) Both added dilute HCI to a part of their mixtures -

(i)  Bothadded carbon disulphide to another part of mixtures.

(iif)  Both used magnet to separate its constituents on the last part of the mixture.

20 (@) A R @ uivifvd Fwifs s # fafie saeesd 1 3 aTa & dgd i § sFaftd S
SRITeT |

(b) T Fifg & ok Ot W) e 2

(a) Explain the term density. Arrange different states of matter in  increasing order of
density. '

(b) Explain how ice floats on water.

21 frafafad sow & w=mfe: 5
()  ufudiferardt Saw foed @ & gum St St g €
(i)  T9 S0 HI I TG H MHs 9 I /il € |
(i)  THE TG YOS T A ARG HLh YTEA Tl I WIE FE H Hedh el ¢ |
(iv) I% @RYE @ A & o Seames ad YoM w8
(v) O% S Hiuel H [qemm Haw Siveeed W= e gl
Identify the following tissues :
() The epithelial tissue which has pillar like tall cells ?
(i)  The cells of this tissue are filled with fat globules
(ii) ~ The movement of this tissue pushes the mucus forward to clear respiratory tract.
(iv) It gives buoyancy to lotus to help it afloat.
v) Tissue present in lung alveoli '

22 aqﬁaawwiﬁ;%faﬁﬁﬂuﬁaﬁA;Bamcﬁzsomﬁwagm'waét? 5
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Above graph shows how three runners A, B and C ran a 250 m race.
(@) Which runner won the race ?

(b)  Which runner stopped for a rest and for how long did he stop ?
(c) How long did the runner B take to complete the race ?

(d)  Calculate the runner A’s average speed.

2
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()  How far A was ahead of Band Catt=10s?

23 nﬁmaqﬁﬁn%ﬁaﬁﬁﬁtm% | 5
(a) i S g ar 4T % T 2
(b) T AT TEHT e W F A ?
()  3id 9T SHET AIhIA® 9ol & HHA 2
() Forene 56 gl % w2
) i =i fewm & foeg wRwr?

When can a moving object have its :

fa) average velécity equal to its instantaneous velocity ?
(b) average ;relodfy equal to its average speed ?

() average speed equal to its instantaneous speed ?

(d)  displacement equal to its distance ?

(e) acceleration opposite to the direction of motion ?

24 FIH I F WSRO H et ST i S e FRew aen Freon fafi #1 sedE A s S
& o H FH F foag saErt @ HMaw qon < sifaw sl w1 g SR

Mention the preventive and control measures used before grains are stored. List two biotic
and abiotic factors each that are responsible for grain loss.

YIT-& / SECTION - B

25 geueell & AE sEerEdl # foemm =l & w9 e S0 F foe e S8 wme w @ 1
FeavEm g SfifTs F e 4§ W T A s gfe et ae €
(a)  z3ifaw (b) A =

()  TwmRa (d) MmN faerga .
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To observe starch granules in bread under a microscope, we will place it on slide. Then the
stain which is poured and will confirm its presence clearly is :

(@)  Eosin b))~ Methylene blue

() Safranin (d)  lodine solution

TF I 3 e A ol T srafufaa o ¥ < 5% W enseeiie o B et g em Y 1
TETel B H T % T B AR SRS o ¥ S| 3 dfew w i

(@) TWEAA A H IS T FH YHE B

(b) Tt st SrEmEt § $¥ o1 aiads T8

()  9@Ecl B ® Tersl {7 1 Wb BT

(d) ﬁwﬁﬁA’WBﬁmfﬂﬁmml

A student added two drops of conc hydrochloric acid tb adulterated dal in test tube A.

Another student added a little sample to conc. hydrochloric acid in test tube B. They would
observe.

(a) 7 appearance of pink colour in any test A

R

(b)  nochange of colour in any test tube
()  appearance of pink colour in test tube B

(d)  appearance of pink colour in test tubes A and B

I, WeH a9l T UeHEE FI Gel- uﬁmﬁﬁﬁmﬁ@aﬁ@ﬁaﬁﬁfamﬁﬁ? 1

() 3 T |
(by Tt o erawem|
(0 TR TiY|

(d)  (a) @ (b) ST

Which of the following methods help in exact recognition of iron, sulphur and iron sulphide ?
(@) their melting point

(b) their physical appearance

(c) their odour . ;-

(#)" both (a) and (b)
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When a mixture of iron filings and sulphur powder is dissolved in carbon disulphide, the
resulting solution will appear as in test tube :
f“ o

S

I

-~

% i e i e A e S €, F T e AR e wOR w1
2 S 1 AT A R G ©

@)
(©)

An iron nail was dipped in a salt solution of ‘A’. after some time a brown substance was
deposited on the iron nail. The salt A could be:

\(B),---’/iron sulphate
(d)

@
()
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silver chloride

copper sulphate

~N

(b)
(d)

(©)

(©)

I

solution

11

(d

Ty -

-
v)

(d)

3EH TThe
faeer MEee

silver nitrate

v

Iron+
sulphur
powder
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(i) 9 F G T T A 9
(i) Faﬁﬂﬁqaﬁ@aaﬁ%ﬁq
(iv) foce #1 o=t me Aaffsa = & fore

@ () 3R i) (b) (i) #R (i)
) a:ﬁ'{ ) d) aﬂ'( i
© (i) *W (iii) \(} ) ¥R (iv)

The thin peel of :n_'lion is placed in a watch glass containing water because :
(i) It prevents the peel from folding

(i) It prevents the entry of air bubbles

(iii) It prevents the peel from drying

(iv)  Ithelps in better staining of the peel |

@  (@and () ' (®) (i) and Gii)

() (i) and (i) (d) (i) and (iv)

31 vl wiRE i ganeH o 3En W G 3 wise wi ad W F w1 § v, Wit sw SivEn 1

()  UH-FEHF I aFEd T

(b)  FgTE T yEReE ¥

()  U=-Fgehr qu et ol § |
(d) s e st ot #

While observing a permanent slide under microscope Rita identified the slide as of striated
- muscles due to :
(@) _uninucleate and spindle shaped cells
multinucleate and unbranched cells
(t) uninucleate and branched cells
(d)  multinucleate and branched cells
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e i o e ¥ 1
(a) O T H 5T AT H YREdH

(b)  EA TEEAT FT I AT H qfad

(c) o/ & Y AHE srawd § qRadq qun 3o gad 3R

(d) 79 7T 1 29 T § yiadH

The process of sublimation involves
(@) Change of solid into liquid state.
(b)  Change of liquid into solid state.

« (€ Change of solid directly into gaseous state and vice-versa.

(d)  change of gas into liquid state

e axg W oM 9 9@ Gafera a9 we S, o 1
(@) =l =1 A0 Y= BN
(b) = 1 T o wEE A

(d) I R ITET

Forces acting on a body are said to be balanced if :
(a) Sum of the forces is zero

(b) . Direction of forces is same

(c) Magnitude and direction of forces is same.
(d)  Gravitational force acts on it.

{1 3 SR WEAfTd %A A, B, C a1 D § W% & 9% TR, e F TeHARH, ®RH 2
yRel qul frewd el o w1 weafadl § ot een & AR WEHfad &t 9gEn
arafas faasq, fTe=a aon FekEe & §9 5 it

Rima took fine chalk powder, egg albumin, starch powder and alum powder in four test tubes

A, B, C and D respectively. After adding water to all the four test tubes, identify the test tubes
as true solution, suspension and colloid.

YA B % &1 oS 910 ®E & T4 ¥ g8 9% f6d &9 ° o =ifew? emider € w8t 2
qrgdis Fa T fea s =ifEe?

In an experiment to determine the melting point of ice in laboratory, what form of ice should
be preferably used? When should the reading of thermometer be noted?
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Wﬁmmmﬁwﬁmmmﬁmﬁﬁmﬁ:mmmim: 2
F= fRw e gE @ owE

Wi-wz2 W2-wi
X100 j X100
M (1)

(i) form =1 g e W& wE fRa T

In the experiment of determining the percentage of water absorbed by raisins, two students
Somya and Zahira used the following formula respectively:

wi-wz
Wi

W2-wi
w1

(D : A

() Which student used wrong formula?
(iiy ~ What are W1 & W2 in the correct formula?

X100 -~ ; X100

Page 14 of 14



